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June — Examination 2024

B.Sc. (P art I) Examination 1. (1) Define centripetal force and centrifugal force.
PHYSICS AT T SThH5F 1 i TRUIET i |
(Mechanics) (i) Explain Lorentz-Fitzgerald contraction.
JQitsrent AT TReses Hega 1 T9=sT
Paper : PH-01 (ii1) Prove that central force is the example of
conservative force.
Time : 3 Hours | [ Maximum Marks : 35 faz Ffan 7 T T TR e A R
Note .— The question paper is divided into three Sections 7
A, B and C. Write answers as per the given (iv) Define impact parameter.
instructions. T T At A
e - a® yvA-m ‘e, ‘9 SR ‘R i mmel § fawifsa © . . . .
o TvE @ f o % s AR (v) Define precessional motion with suitable
exmaple.
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(vi) Define the inertial and gravitational mass.
Note .— Answer all questions. As per the nature of the R .
. due per S A1 TEed FHM i IRYI Hig |
question delimit your answer in one word, one

sentence or maximum up to 30 words. Each (vii) Define Potential Well.

question carries 1 mark. fawa =g =1 Rt swifSw)

(Very Short Answer Type Questions)
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Section-B 3,x4=14
(Short Answer Type Questions)

Note — Answer any four questions. Each answer should not
exceed 200 words. Each question carries 3%
marks.
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2. Describe the effect of earth’s rotation on ‘g’ with
suitable diagram.
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. Prove that the particle having rest mass zero is

moving always with velocity of light.
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. If a body is thrown upward with half of escape

velocity then how much height is attained by
body ?
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. Derive the various relations for collision of two

particles in laboratory and centre of mass frame.
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. Find expression for moment of inertia of a solid

cylinder about the axis of symmetry of the cylinder.
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7. Explain Kepler’s laws of planetory motion.
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8. What is critical damping ? Explain.
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9. Show at which condition the power absorbed by a
driven oscillator is maximum.
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Section—-C 7x2=14
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 7 marks.
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10. Define Poisson’s ratio and prove that :
Y = 3K(1 - 20).
Tfe|l STU i gRwmn it qen fag wifse
Y = 3K(1 - 20)

11. Find of condition for the resonance in equation
LCR circuit and prove that the bandwidth its
inversely proportional to the quality factor of
circuit.
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12.If Q is the quality factor, then prove that frequency

QZ

of oscillator reduce to % due to damping.
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13. Calculate the velocity of a watch when it seams to

be slowed down by one minute in one day.
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